Your school has decided to spend some money on buying new equipment. You have been
asked to write a short report to your Head teacher to recommend how you think the school
should spend the money:

The choices are :
- aschool minibus
- more sports equipment
- new computers for the classroom

Write a short report to say which of these choices you think is the best. In your report say what
vou think the advantages of your choice would be for the student and for the school.

You should write between 100 and 150 words.



' Questions 51 - 60

* In this section you must choose the word or phrase which best completes each
sentence.
* For questions 51 to 60, mark one letter A, B, C or D on your Answer Sheet.
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Roger’s manager ................... 10 make him stay late if he hadn‘t finished the work.

A insisted B warned C threatened D announced

By the time he has finished his week’s work, John has hardly ................... energy left
for the weekend.

A any B much C no D same

As the game .................... 10 a close, disappointed spectators started to leave.
A led B neared C approached D drew

I don’t remember .................... the front door when I left home this morning.
A 1o lock B locking C locked D to have locked
I......ccceenneeeee.. to other people borrowing my books: they always forget to
return them.

A disagree B avoid C dislike D object
Andrew’s attempts 10 get into the swimming team have not .........c.......... with

much success.
A associated B concluded C joined D met

Although Harry had obviously read the newspaper article carefully, he didn’t seem to
have .................... the main point.

A grasped B cluiched C clasped D gripped
A lot of the views put forward in the documentary were open to .........cc......... .
A enquiry B query C question D wonder

The new college .................... for the needs of students with a variety of
learning backgrounds.

A deals B supplies C furnishes D caters

I find the times of English meals very strange — I'm not used ..................... dinner
at 6p.m.

A to have B to having C having D have



Questions 11 - 20

In this section you must choose the word which best fits each space in the texts.
For questions 11 to 20, mark one letter A, B, C or D on your Answer Sheet.

Alice Guy Blaché

Alice Guy Blaché was the first female film director. She first became involved in
cinema whilst working for the Gaumont Film Company in the late 1890s. This was

a period of great change in the cinema and Alice was the first to use many new

inventions, (11) .................. sound and colour.
In 1907 Alice (12) ..........ccvuee... t0 New York where she started her own film
company. She was (13) ........cc....... successful, but, when Hollywood became the

centre of the film world, the best days of the independent New York film companies
were (14) ................... . When Alice died in 1968, hardly anybody (15) .................

her name.
11 A bringing B including C containing D supporting
12 A moved B ran C entered D transported
13 A next B once C immediately D recently
14 A after "B down C behind D over
15 A remembered B realised C reminded D repeated




Questions 6 - 10

* |n this section you must choose the word which best fits each space in the text below.
* For questions 6 to 10, mark one letter A, B, or C on your Answer Sheet.

Scotland

Scotland is the north part of the island of Great Britain. The Atlantic Ocean is on the
west and the North Sea on the east. Some people (6) .................. Scotland speak a

different language called Gaelic.

There are (7) .................. five million people in Scotland, and Edinburgh is
(8) .................. most famous city.

Scotland has many mountains; the highest one is called ‘Ben Nevis’. In the south of
Scotland, there are a lot of sheep. A long time ago, there (9) .................. many

forests, but now there are only a (10) .......occvveee. :

Scotland is only a small country, but it is quite beautiful.

6 A on B in C at

7 A about B between C among
8 A his B your C its

9 A is B were C was

10 A few B little C lot



